Disadvantages

DA’s are bad reasons to implement the plan outside of the stock issues. That makes DA’s off-case arguments, because they do not directly refute a stock issue. Each DA is labeled with a name that it is given based on its topic. SO, a DA about hurting the economy is probably going to be referred to as the “Spending DA” within the round. DA’s have three necessary parts.

These three parts together are referred to as the “1NC version” (because read in the 1NC), “the shell” (because it is the bare bones basic parts of the argument), or a “frontline” (because it is the first version of the argument presented in the round).

Uniqueness: This card discusses the status quo. It is necessary because it leads to showing how the affirmative alone will change the status quo for the worse. This is important because it shows how things are now, and the next step shows how the affirmative will change the status quo. [The economy is barely surviving now]
Link: This shows that the Affirmative plan changes something about how things are right now. [Plan spends more money which hurts the economy]

- These can be generic or specific. Specific is usually stronger, generic are sometimes quicker to find.



- Generic: Spending more money bad


- Specific: Spending more money on science classes hurts the economy
Impact: This is the bad event that the affirmative causes by changing the Uniqueness. Usually, DA’s end with an impact of extinction, nuclear war, or something equally as catastrophic.  It is important that the impact is realistic but still extreme because the DA impact needs to outweigh the benefits of the affirmative plan. [Economic collapse leads to war]
The majority of DA’s are threshold disadvantages. This means that the DA will either happen or it doesn’t. So, if the plan is implemented, the impact WILL happen and if the plan doesn’t happen, then the impact won’t either. 

Another concept often used with DA’s is timeframe. The timeframe is how long before the problem occurs. If it is going to take a long time for the impact to happen, then we might as well do the plan because we don’t know what would happen decades from now. But, if the impact will occur soon after the plan is passed, the impact needs to be weighed against the benefit of the affirmative plan. This is one way to argue that the DA outweighs the case. Pretend impacts are on a scale of which one is worse. 
Magnitude and probability are two other ways a DA can outweigh the case. 

DA TURNS CASE: what the heck does this mean? It’s pretty simple- if the affirmative wants to solve for a US-China War, and you read a DA that says “whoops, plan leads to a US-China War”, this means you turned the argument around on the aff and now you are winning that argument. 

Affirmative- Fighting a DA
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N/U or No-Uniqueness: The negative uniqueness card is wrong about the status quo
· The economy is strong; economy will be just fine; economy is improving
N/L or No-Link: AFF plan doesn’t cause the problems of the DA

· Spending doesn’t affect the economy
N/B or No-Brink: The AFF plan is not enough to cause a large enough change in the status quo

· Spending money on science classes isn’t large enough to change a trillion dollar economy
N/! or No-Impact: The problem presented in the DA isn’t harmful or won’t happen

· War won’t happen
Case Outweighs: 1AC Impact is larger than the DA impact, so the plan should be passed is preferable. 

E.g.: ! of DA is war and the AFF Plan stops extinction= better that some die in war than extinction.

L/T or Link-Turn: AFF plan helps the problem; the plan doesn’t make it worse

· Spending money on education strengthens the economy
!/T or Impact-Turn: AFF plan doesn’t cause something harmful, the impact is actually a good thing

· War is good….
*** AFF’s SHOULD NOT RUN A LINK TURN AND AN IMPACT TURN ON THE SAME DA. THIS IS A DOUBLE TURN AND IS CONTRADICTORY***   DOUBLE TURN EXAMPLE:
	1NC
	2AC # 1: L/T
	2AC # 2: !/T
	2AC # 3: Double Turn

	Economy bad now
	N/U: Economy is okay now
	
	N/U: Economy is okay now

	Spending = economic collapse
	L/T: Plan = economy gets even better so no deaths
	
	L/T: Plan = economy gets even better so no deaths

	Economic collapse = deaths
	
	!/T: Deaths good, Earth is overpopulated
	!/T: Deaths good, Earth is overpopulated

	Result: Aff is Bad bc they crash the economy, which gets us into a war.
	Result: Aff good bc spending money on education improves the economy.
	Result: Aff good bc it decreases overpopulation
	Result: Aff is bad b/c they make the economy better which avoids deaths, but deaths are good to avoid overpopulation.


-------------------------------------------------------------------------------------------------------------------
Negatives Winning a DA:
· Make sure to deal with every answer the affirmative makes-DO NOT DROP ANYTHING

· Make sure to explain the link very clearly, showing that the AFF is the cause of the impact uniquely

· Be extra careful to answer (and win) any turns on the DA

· In your rebuttals, weigh impacts and show the judge that the DA is bigger than the case
Kicking out of a DA: 

Sometimes, the AFFs have great answers to your DA. Don’t waste your time trying to win this DA. It’s strategic to concede the DA so it’s no longer in the debate and then focus on other arguments that you’re winning. 

· If they have great answers, don’t waste your time, KICK OUT OF IT

· Kick out specifically-say you’re doing it. Otherwise, it looks like you dropped it, which isn’t great.

· If you kick out of DA’s with turns, YOU WILL LOSE!!! When an AFF turns a DA, it is another reason to vote AFF. In this case, you concede other AFF arguments (usually defensive) on the DA that make the turn irrelevant. ***Be very careful with this. Explain the logic to the judge on why the turn doesn’t apply in the round***
� Thanks to Tim Alderete and “Code of the Debater” pgs. 30-33 for some of this information!!!





